Name: Date:

Teacher: Class:

Multiplication 605

Advice from friends is like the weather. Some of it is good;
some of it is bad. - Arnold Lobel, US author

Multiply these numbers.

L 10x12= 6. 9 x10= 1. 6 x11= 6. 9 x12=
2. 7x10= 271. 7 x9= 2. 2 x11-= 4 x12 =
3. B5x12= 28. 0 x10= 5. 11 x9= 811 x12=
4 0x11= 2. 11 x10= . 1 x12= 9. 9gx9=

5> 8x12= 0. 3x12= % 12x12= 80. 2x9=

6. 2x10= 3l 8x10= % 9x11= 8l. 12 x10 =
12 x11 = 32. 5 x10-= 57. 5 x11 = 82 10x9 =
8. 4x11-= 3. 2x12= 8. O x9= 83. 3 x10=
% 6x9= 4. 8 x11 = 9. 11 x11= 84 1x11=
10. 3x9= 3. 4x9= 0. 6 x12 = 85 12 x9=
3 x11= 3. 7x11= 61. 6 x 10 = 8. 0 x12=
12. 4 x10 = 87. 1 x10= 62. 7 x12+= 87 10 x 11 =
13 10x 10 = 38. 8x90-= 63. 5 x9= 88. 2x11-=
4 7x12 = 3. 11 x12= 64. 2 x10 = 89. 7 x10 =
5. 0x9= 40. 1 x9= 65. 6 x 10 = 0. 4 x11 =
16. 10 x9 = . 6 x12 = 6. 6 x 11 = 91. 12 x10 =
7. 2x9= 42. 5x9= 67. 7 x10 = 92. 4 x12 =
18. 4 x10= 4. 10 x9 = 68. 9x11 = 9. 3x10=
19 10x 12 = 4. 7 x 12 = 69. 9x 9= 9%4. 2x9=

0. 0x11= 5. 0 x 10 = 70. 9 x 12 = 9. 8x12-=
2l. 11 x11+= 46. 4 x 10 = 1. 0x9= %. 5x10=
2. 7Tx11= 47. 9 x 10 = 2. 1 %10 = 97. 3x11=
2. 11 x9= 8. 5 x 9= B 1x12= 8. 0x12=
24 4 x12 = 9. 3 x12= "o 11 x11 = 9 1x11=
2. 1 x9= 5. 5 x 12 = 52 x12= 100. 5 x 11 =
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Answer Key

Date:

Teacher:

Class:

Multiplication 605

Multiply these numbers.

Advice from friends is like the weather. Some of it is good;
some of it is bad. - Arnold Lobel, US author

L 10x12=120 26 9x10=90 5 6x11=66 7 9x12= 108
2 7x10=70 2 7x9= 63 52 2x11=22 77 4x12= 48
3 5x12=60 8 0x10=0 8. 11x9=99 78 11x12=132
4 0x11=0 29. 11 x10= 110 5 1x12=12 7 9x9= 81

5 8x12=96 30 3x12=36 55 12x12= 144 8 2x9=18

6. 2x10= 20 3. 8x10= 80 6. 9 x11= 99 8l. 12 x10= 120
7 12x11=132 32 5x10=50 5 5x11=55 8 10x9= 90
8 4x11=44 38 2x12=24 58 0x9=0 8. 3x10= 30
> 6x9=54 3. 8x11=88 5% 11x11= 121 8 1x11= 11
10 3x9=27 35. 4x9= 36 60. gx12=72 8 12x9= 108
1.3 x11 = 33 3. 7x11=77 6. 6 x 10 = 60 8. 0x12=0
1224x10=40 3 1x10=10 6 7x12=84 8. 10x11= 110
1310 x10= 100 38 8x9= 72 63. 5 x9= 45 8. 2 x11= 22
4 7x12=84 39 11x12=132 ® 2x10=20 8 7x10= 70
5 0x9=0 0. 1x9=9 5. 6x10=60 90 4x11= 44
16.10x9=90 4 @gx12=72 66 @Ex11=66 9 12x10= 120
7. 2x9=18 42. 5x9=45 67 7x10=70 92 4x12= 48
18- 4x10=40 4 10x9=90 6 9x11=99 9% 3x10= 30
1910 x12= 120 4 7x12=84 6 9x9= 81 9%. 2x9=18
0. 0x11=0 4. 0x10=10 0. 9gx12=108 9% 8x12= 96
2. 11 x11= 121 46 4 x 10 = 40 .. 0x9=0 %. 5x10= 50
2. 7x11=77 4 9x10=90 7 1x10=10 9 3x11= 33
2. 11x9=99 48 5x9=45 3. 1x12=12 % (0x12=0
24 4x12=48 4 3x12=36 74 11x11=121 % 1x11= 11
2 1x9=9 5. 5x12=60 75 2x12=24 100 5x11= 55
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